A2 E A (A DB/ %7 2)

EAFuSA G
AP S =A== AEU e 2017 (A) | 20169 (B) | S (A-B)
37 26,963,537 28,755,933 21,792,396
26,963,537 28,755,933 21,792,396
22T 24,945,872 24,861,352 84,520
1,169,951 1,061,969 107,982
ol 2k 733} 9,182 9,060 122
2dd5-xg 9,182 9,060 122
L AT LsEd 9,182 9,060 122
7h AT LA AT 8,560
1) ¢z 210-01 |40,0009 X 17%= 680
2) 7 (4R 210-06 160,000 x 4% = 640
3) A= 210-07 |700,0009 x 5tf x 28 = 7,000
4) ¥ )3 230-02 |15,0009 x 87 x 28] = 240
L WS 622
1) oy geapels 210-01 |500,0009 x 14 = 500
2) ZTH ) w S g AbA 210-01 |122,00090x 14 = 122
T YA 3,007 3,790 AT783
LIRS 640 1,140 A500
1. ZRAEZEA 640 1,140 A500
7h WS EA 640
AL E 210-01 |20,0009] X 65 = 120
2) At 210-06 |80,000¢ x 3% = 240
3) A5 210-06 |50,0009 % 2% = 100
4) AR 210—-06 |30,0009 x 27 = 60
5) &°lg 230-02 | 15,0009 x 874 = 120
YA H 2,367 2,650 ~283
1. QAFAHE) 9 €399 530 530 0
7h A JAALS] A 3] 530
1) FAl4g 210-06 |80,000¢ x 27 x 28] = 320
2) ¥ 9] 3] 230-02 |15,0009 x 7% x 23] = 210
IR =P 15 P 737 1,020 £283
7} s 7N 7} 737
1) $ojax 210-01 |23,4009 x5%= 117
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2o g R T 7 nS A 9d (el - ")
o H
Bopnm f} Z; ?};3 ﬂg NERE = = 20179 (A) | 2016¥(B) | Z7(A-B)
2) At 210-06 |80,0009 x 273 x 28] = 320
3) 9] 3 230-02 |15,00091x 107 x 23] = 300
3. LAJAYF-F2 1,100 1,100 0
7F AL RJIAGFFA 1.100
1) £98F 210-01 |20,0009X10% % 28] = 400
2) 2] 210-04 |7,0009 X 107 x 108] = 700
A FFAQA R °10 510 °
A FFAAAL B 510 o10 >
1. ALEEAAx B A 4 510 510 0
IREEE 510
1) $98% 210-01 15,0009 x10F= 150
2) &9 3] 230-02 15,0009 % 6% x 43]= 360
H) A 74 QAL 1,670 1,670 0
H] g 72 QA= 2 1,670 1,670 0
1. B5F7H A4 R 740 740 0
b AT A LA A 8] 740
1) $983% 210-01 |14,0009 x5%= 70
2) At 210-06 |80,0009 x 173 x 48] = 320
3) AAG 210-06 40,0009 x 17 x 23] = 80
4) 23 230-02 15,0009 x99 x 23] = 270
2. I TR AT AL 930 930 0
7k AR A 930
D Qs 210—01 | 14,000¢ x 3 x 4 A 7}= 168
2) $AgE 210-01 |48,2009 x5%= 241
3) 2] 210-04 |7,0009 x 438 = 301
4) A (A 220
7H 7)1 210-06 |70,000¢] x 2= 140
W} 3 210-06 40,0009 x 28 = 80
T QP E R S}AL7] = = 1,155,582 1,046,939 108,643
FAYE AL 1,155,582 1,046,939 108,643
1. TEATARIAN A ¢ 1,155,582 1,046,939 108,643
7h AR FARIZIH] ) 9 1,155,582
W - ot EFeas - AAAALE - RA ARG AL - wA A8 A4 2/39




& el e = TR A= S B (Sl @ H9)
= [e) 1=}
Bopnm f} Zﬁn ?};3 ﬂg NERE = = 20179 (A) | 2016¥(B) | Z7(A-B)
1) 71 ¥ & 110-02 [1,601,090¢1 %357 x 129 = 672,458
2) A7) EHEI A E 110-02 [220,380€ x35% x 129 = 92,560
3) Vg 110-02 |72,5009 x 20 x12¥9= 17,400
4) A B 25 110-02 |183,300€ X3 x 4%-7]= 2,200
5) WERZH| 110-02 60,0009 x 357 x 129 = 25,200
6) F21H] 110-02 (80,0009 x 357 x 129 = 33,600
7) A=t 110-02 [1,113,1109 x35% = 38,959
8) WA F 7 110-02 |1,000,00091 x 359 = 35,000
9) A7+ 110-02 |500,00091 x 357 = 17,500
10) =& E 1) 240-02 400,00091 X 357 = 14,000
1) gx8+& 320—-04 |3,191,920€ x 35 = 111,718
12) ==+ 320-04 |1,201,9709 x 357 = 42,069
13) A7 R 320—-04 |817,34091 <359 = 28,607
14) =21#7] 0 okw 3] 320—04 [53,5409 X359 = 1,874
15) 181 320—-04 |400,6509 %359 = 14,023
16) AR B3 320-04 |240,4009) %357 = 8,414
AF-&58ER Y 1,073,426 860,291 213,135
AEHAFNELY 29,190 17,090 12,100
R B N 14,479 5,380 9,099
1. 25185 HH L9 4,479 5,380 A901
7k YA 5299
1) $98=% 210-01 |26,2009 X 10%= 262
2) =AY 210-01 |15,0009 X507 x 33 = 2,250
3) AlH] 210-04 |7,0009 %417 = 287
4) ZArE (AN 500
7 7] 210-06 |160,0009 x 24 = 320
) %3 210-06 90,0009 x 2 = 180
LT R R 1,180
1) S99= 210-01 |33,5009 x 8% = 268
2) A (b 450
7 71E 210-06 100,000 x 3% = 300
W) %3 210-06 50,0009l x 3% = 150
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TFNEA LA (] - A9

o A=)
?};3 ﬂg Aol el B Ao 20179(A) | 2016€(B) | =7 (A-B)
3) Y8 210-01 [14,0009 x 3ul] X 3A|7k= 126
4) WEH 210-06 |12,0009 X34 = 36
5) ¥93 230-02 |15,0004 x 207 = 300
2. A& A Q3= d 10,000 0 10,000
7h MRS E - 6,900
1) $98% 210-01 |50,0009 X 24% x 33]= 3,600
2) AR () 3,000
7h 71 310-01 |300,0009 x 2% x 33]= 1,800
W) =3 310—01 |200,0004) X 27 X 3] Zk= 1,200
3) 93 230-02 |15,0009 x10% x 28] = 300
U ALY 3,100
1) $9¢= 210-01 |50,0009 X 23% x 23] = 2,300
2) AR () 500
7 71E 210-06 |300,0009 x 1% = 300
W} %3 210-06 |200,0009 x 1 = 200
3) g3 230-02 |15,0009 X 107 x 23] = 300
IHAENLRF 13,711 10,710 3,001
1. AL AR A g A u 7 e F 13,711 10,710 3,001
7h, Ab8] 7hA) o s A kR 12,730
D eog= 210-01 (19,7004 % 10%= o7
2) A=A = 210-01 |7,000€] X 570% x 28] = 7,980
3) Aua 210-01 |13,000€ x 3 X 74| 7= 273
4) HEFTT 1,080
7h 7] 210-06 |40,0009 x 97 x 23] = 720
W) =3 210-06 |20,0009 X 97 X 24| 7k= 360
5 AN 3,000
7h 71E 210-06 |40,0009 x5 x103]= 2,000
W) =3 210—-06 |20,000€ X 5% X 101 Zk= 1,000
6) &3 230-02 15,0009 X107 % 23] = 300
b AL 7h o g A 2§ A 5 981
1) 2n] 210-04 |7,0009 x 43 x 23] = 602
2) 7FAn) 210-04 |3,0009lx43%= 129
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2% (9] Q)

ﬂfg P =) = Ao 20174 (A) | 2016W(B) | Z7H(A-B)

3) A (b 250

7 78 210-06 |160,00041 x 1= 160

) 23 210-06 90,0009 x 1= 90
EAgeRgd LS 1,000 1,000 0
1. A8t wegx4g 1,000 1,000 0

7h Al st R A Y E 9] 8- 1,000

) eodex 210-01 |50,0009 x 6% = 300

2) 2] 310-01 |7,0009¥ x10% x108]= 700
33,183 37,700 24,517
FAZFANAA L 17,960 17,960 0
1. ZASEAAAR Y 17,960 17,960 0

7k A el A 5,680

1) &9 210-01 |40,0009 X 26F x 28] = 2,080

2) (b 3,600

7h 7)1 E 210-06 |100,0004 x 127 x 23] = 2,400

W) x3 210-06 |50,0009 x 121 X 24| gk= 1,200

e sAlshd o g 2,200

1) $98= 210-01 |20,0009 X 10%= 200

2) 2] 210-04 |7,00049 X 2007 = 1,400

3) 7FAH] 210-04 [3,0009 %2004 = 600

o T nd AT 7,720

1) w&74n) 210-01 (77,0009 X 60% = 4,620

2) 24 210-04 |7,0004l % 607 = 420

3) 72 210-04 3,0009 %60 = 180

4) Z=un) 210-04 40,0009 X407 = 1,600

5) 393 230-02 |15,000€ x 307 x 28] = 900

gt FaEAdshdegAd 2,360

1) A3 210-12 |500,00049 x 43] = 2,000

2) TAT-¢IH) 210-01 15,0009 x 129 x 23] = 360
SR AT 15,223 19,740 A4,517
1. $FA0AA ¢ 15,223 19,740 24,517

A E SRRk 13,500
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B AGRED T EX 4% (4] - 21 4)
Bopnm f} Z; ?};3 ﬂjg NERE = = 20179 (A) | 2016¥(B) | Z7(A-B)
1) S5 R Z3A} 210-06 |10,0009 x 33 X 450] 7= 13,500
. S AR A 1,723
1) Loex 210-01 [41,1509 x10% x23]= 823
2) Ak (LR v00
7h 7= 210-06 |100,00091 x 29 x 33]= 600
W) 23} 210-06 |50,00091 x 278 x 34| 7h= 300
TEA LR ETF 2,000 2,000 0
dZTHTgEEA 2,000 2,000 0
1 2 A EA A3 2,000 2,000 0
b AR A AR 2000
1) $oex 210-01 |35,00091 x 20% x 23] = 1,400
2) 9] 3 230-02 |15,00091 % 20% x 28 = 600
otz SsAE 9,339 8,423 916
Frotm &4 9,339 8,423 916
L AAALEH}YLIA AR NERFEAE 4,239 3,323 916
7} AR LA 2004
1) $98= 210-01 |55,0009 X 10%= 550
2) 98 210-01 |14,0009 x 3 x 124 7= 504
3) &A= 210-01 |7,0009 X 50%-= 350
4) At () 1,000
7p 7B 210-06 |160,0009] x4 = 640
W) %3 210-06 90,0009 x 44 = 360
5) WEH) 210-06 40,0009l x4 = 160
= ArA < 1675
1) £98F 210-01 20,0009 x 10%= 200
) Z=e) A7 210-07 |800,0009 x 1t]= 800
3) <3 230-02 15,0009 x 45% = 675
2. A AFAA L 5,100 5,100 0
7h e g 2 A AR 5,100
1) $99% 210-01 50,0009 x20%= 1,000
2) Frjuleaka %) 210-01 |3,950,0009= 3,950
3) & 9] 3 230-02 |15,00091x10%= 150
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A AR R uSA 93 GOERE)
= o A=)
wopvy S0 | 2R | AT NERE 2 4% Ao} 2017d(A) | 2016W(B) | Z%(A-B)
EFgSAE 122,130 109,283 12,847
ELgSusssExy 104,310 89,651 14,659
1. ES SR AE LY 104,310 89,651 14,659
7b A 55 w4 A AAE 2 104,310
1) 7FArlAn] 41,876
7H A% 110-02 |2,379,4909 x12¢¥= 28,554
h F214) 110-02 [80,0009 x12¥= 960
b HA 57 110-02 |250,0009 x 23] = 500
2} Azt 110-02 |110,613¢x15%= 1,660
S IR A B e = 110-02 |1,990,0009 x 19 = 1,990
Hp) AR S 110-02 |14,2609 X924 k= 1,310
AP "k B 2] 240-02 400,00091 % 18] = 400
o) A 320—04 134,973,0309 x1/12= 2,914
Zp) Tl 320-04 |34,973,0309 X 4.5%= 1,574
zH A7 R 3 320—04 |34,973,030€9 X 3.06%= 1,070
7H o1 G 7| ookR 320—04 |1,071,000€ X 6.55%= 70
EH) 71813 320—04 134,973,0309 x1.5%= 525
3}) AR R 320—04 34,973,030€ X 1%= 349
2) g7 2,140
7h AAA T4 210—01 100,000€ X 15%F= 1,500
W 93 A 210-06 |80,000¢) x4 x 23] = 640
3) EFuSEEAY 23,276
7hH 9 LE 210-01 [26,0009 X105 x93]= 2,340
W) FEEA % 210-01 |10,000€1 X 2007]= 2,000
h 938 210—01 |14,000¢ x 3 x 8A]7t= 336
b 21n] 210-04 |7,00091 x50 x 93] = 3,150
uh) 7HAH] 210—04 | 3,000€ x50 x 93] = 1,350
Hp) Al elxtE 210—07 100,000€ x 43 = 400
AP 2pEFd = 210-07 |700,00091 < 6th= 4,200
o) FA&@n) 210—12 30,000€ x 35% x 93] = 9,500
4) oIn) 8,820
7hH &3] o3H] 220—01 15,0009 x 39 x 1603 = 7,200
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(9] - )

o A=)
wopvy S0 | 2R | AT Aripel %A% SESE 2017 (A) | 20166 (B) | S7(A-B)
) Zhjoin) 220-01 |20,000¢ x 3% x 108 = 600
th Eujodn] 220-01 |40,000¢] x 39 x538]= 600
2}) T 9loin] 220-01 (70,0009 x 37 x 23] = 420
5) 3ol3 230-02 |15,0009 x 39 x 93] = 400
6) At E (LR 2,620
7hH 7]& 310-01 [160,0009 %107 = 1,600
) %3 310-01 [90,000€ x10% = 1,020
7 ETuSAT 3,088
7hH e98= 210-01 |46,0009 X105 % 28] = 920
W) dug 210-01 |14,000¢) x 6wl x 28] = 168
o} 2H] 210-04 7,0009 x50 x 23] = 700
2} 7+ 210—04 3,0009 x50% x 23] = 300
vh) A &H] 210—-12 |10,0009 X507 x 23] = 1,000
8) AlE] 15,740
7hH 8= 210-01 |19,2009 x10%F %1038 = 1,920
W AL & 210—02 700,0008 x129= 8,400
) TR 210-02 100,0009x12¢= 1,200
o} dsla = 210-02 150,000 x129= 1,800
uh) 7FAQ 210-02 [130,0009 x 23] = 260
vh) A A A B 210-02 50,0004 x129= 600
AP AZ|A AT 210-01 [50,0009 %129 = 600
o) AR A A AL E 210-01 30,0008 x129= 360
ZH A7 g9 &8 210-07 [50,0009 x12¢¥= 600
9) @ Aat-4d ] 6.350
H =EHE 430-01 |1,300,0009 x 1tj= 1,300
) EAA ) 430-01 550,000 x 1t= 950
th 7 430-01 |730,00091 x 1¢)= 730
) AE7] 430-01 [62,0009 x10th= 620
ul) ¢ =g 7} et 430—01 350,0009 x 1t]= 350
v Z2E (A4) 430-01 |600,000¢1 % 1t= 600
AP BZ7A 430—01 1,200,000¢ X 1tf= 1,200
ol £ALE7) A 430-01 |1,000,0009 < 1th= 1,000
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B STAS b K )
o A=)
?};3 ﬂ% PRSIL == AESE 2017d(A) | 2016W(B) | Z7%(A-B)

ExgSEAY 17,820 19,632 21,812
1. X BAFSS 17,820 19,632 A1,812

7h S S A AAE = 17,820

1) o1An 110-03 25,0009 X593k x 109 = 14,750

2) 4=3] o) 220-01 |15,000¢ X 1803]= 2,700

3) 143 320-05 |14,750,0009 x 1.5%= 222

4) A 1F 320-05 |14,750,0009 X 1%= 148
=TS8} 12,330 12,330 0
EN=2aS8A4 3} 12,330 12,330 0
1. E28E85gd44d 12,330 12,330 0

7 BENEELSAY 3,880

1) $94= 210-01 |40,0009 X 20% x 23] = 1,600

2) AH] 210-04 |7,0009 X 407 x 28] = 560

3) 7HA1n)| 210-04 |3,0009 x 407 = 120

4) AR (AW 1,000

7h 7] % 210-06 |160,0009 x 27 x 28] = 640

W) 23} 210-06 90,0009 X 278 x 24| k= 360

5) }ekol e 210-07 600,000 x 1tj= 600

U, AT 8,450

1) $98= 210-01 |50,0009 X 10%= 500

2) =AY 210-01 |15,0009 X507 = 750

3) A A= 210-01 |12,000¢ X 250%= 3,000

4) 2] 210-04 |7,0009 X 50% x 43| = 1,400

5) 7HA1H] 210-04 3,0009 X507 x 23] = 300

6) Zuhy) 210-04 20,0009 x50% = 1,000

7) A (AR 1,000

7h 7|5 210-06 160,000 x 4= 640

W =3 210-06 90,0009 x4 = 360

8) A=l 2 210-07 |500,0009 x 1t)= 500
PSR 530,858 252,786 278,072
PRSI RS 530,858 252,786 278,072
1. 259758944 200,000 0 200,000
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Al Az 2017 (A) | 2016 (B)

7t 25 IS ol ks 200,000

D 259350 w889 200,000

7h gz a9y 210-13 |22,000,000¢1 x84 = 176,000

) Ak 480

(1) 7]% 210-06 |40,00091 x 87 = 320

(2) %3 210-06 |20,0009 x 8= 160

th) o3 230-02 15,0009 X 16™ x 23] = 480

b UE- AR 620—-03 |30,0009 X 24 X 32F= 23,040
2. doJAE =2 184 80,000 0 80,000

7} 010121]64 w5 sA A 80,000

A2} 2 210-07 4,543,300 x 1t x107H€L= 45,433

2) 2 2goln 210-13 800,000 x12¢= 9,600

3) ZFYolAn] 620—-10 (2,080,580 %1% x129= 24,967
3. AAGAALLEFIA A 250,858 252,786 21,928

7t FAAHAE 2 250,858

1) o1An) 195,228

O CLHEES N 89,154

(1) A% 110-02 |29,000,000¢ x 2% = 58,000

(2) Ao Lrs=y 110-02 |1,200,0009 x 2% = 2,400

(3) AF 2T 110-02 |20,000€ x 2% X 30A]7k= 1,200

(4) AFAEA AL 2P AERFAFH] | 210-01 |2,000,0009 x 27 = 4,000

(5) FEIelzE 310-01 |4,800,0009 x 2= 9,600

6) A== 310-01 |300,0009! x 24 = 600

(7) 2H7AN 310-01 |1,650,0009 x 2= 3,300

(8) HAZ 320-04 (2,500,000 x 29 = 5,000

(9) E}-?_Oj% 320-04 |29,600,000¢ X 27 x 4.5%= 2,664

(10) AZ4Rd 320—04 |29,600,0009 X 2 X 3.06%= 1,811

(11) =137 QokR 3 320-04 905,760 % 27 X 6.55%= 118

(12) 2R3 320—-04 |29,600,000€ x 27 X 0.78%= 461

) 71 7HA LAY 106,074

(1) A= 110-02 |41,340,690¢ x 2% = 82,681

(2) AALZ T 110-02 |11,088€Y % 2% X504 7k= 1,108
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GO )

AU o =A== ArEue 2017 (A) | 20169 (B) | S (A-B)
(3) AxF 110-02 |75,3609 %2 x99 = 1,356
(4) At &+ 110-02 |2,618,9209 x 29 = 5,237
(5) 4rE=3 = x)n) 240-02 |200,0009 x 29 = 400
(6) BA =+ 320-04 |3,372,82091 <29 = 6,745
(7) =9+ 320—-04 |42,573,3309 X2 X 4.5%= 3,831
(8) A% R3 320-04 [42,573,3309 X 2% X 3.06%= 2,605
(9) =917 QokR 3 320-04 |1,302,500¢ X 2 X 6.55%= 170
(10) &R 320-04 (42,573,330 X2 X 1.5%= 1,277
(1) AR 320—-04 |42,573,330€ X 24 X 0.78%= 664
2) X 7o) 30,140
7hH +98% 210-01 |86,95091 X 10% % 103]= 8,695
W) =pE A= 210-01 |20,0009 X 100% x 53] = 10,000
h AFES5AEAE 210-11 |52,35091 Xx20% %X 103]= 10,470
b 3ol 3 230-02 |15,0009 x5 x 133]= 975
3) 71T 2,160
7hH ARG F-=71] 250-02 100,0009x129= 1,200
W) 7)E ] H %) 230-01 |80,00091x12¥= 960
4) F¥L= 6,600
7hH A7+ 210-02 |400,0009x 129 = 4,800
W) dsle 210-02 |150,0009x 129 = 1,800
5) BAlz|dxtg 210-07 |187,0009 x12¢¥= 2,244
6) AF7]H-A B 210-07 60,0001 <129 = 720
7) A AN A T 210-09 |125,6009x103]= 1,256
]) Al A5 7z 210-09 |721,0009 % 103]= 7,210
9) oH] 1,300
7hH = 220-01 |20,0009 x5 x 53] = 500
W) = 220-01 |40,0009 x5 x 43]= 800
10) H&E74 4,000
7 AFETY 430-01 |1,150,0009 x 2t} = 2,300
W) TVF+Y 430-01 |1,700,000¢1 % 1th= 1,700
38,907 36,301 2,606
TR R =N T AR 36,687 33,285 3,402
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2% (gl - A9

)=]
s Ayl %A% a4 20179(A) | 20169(B) | SH(A-B)

1. A F AL 36,687 33,285 3,402

7}, elAn] 35,887

1) 7)1%F 110-02 |1,602,0009 %129 = 19,224

2) A7) LRI 110-02 |320,0009 x12€= 3,840

3) 7NESY 110-02 (40,0009 x129= 480

4) WERZH| 110-02 60,0009 x 129 = 720

5) F21n] 110-02 (80,0009 x129= 960

6) AxFot 110-02 65,6109 x21= 1,378

7) ARz 110-02 10,7679 x 1447k x 129 = 1,809

8) WAHZ 7] 110-02 |500,0009 x 23] = 1,000

9) A7 110-02 |250,0009 x 23] = 500

10) grE=3dEx)n) 240-02 400,000 x 1= 400

11) gx8& 320-04 |2,490,0009 X 1% = 2,490

12) =+ 320-04 |30,059,700¢ X 4.5%= 1,353

13) A7 R 320-04 |30,059,700¢ X 3.06%= 920

14) =047 QknH 320—-04 |920,0009 X 6.55%= 61

15) 1413 320-04 |30,059,700¢ X 1.5%= 451

16) AR 320-04 |30,059,700€ X 1%= 301

L}, o3n) 220-01 |20,0009 x 403]= 800
AdFAATH 1524 2,220 3,016 AT96
R T S L R e 2,220 2,220 0

7h e A 3] 2,220

1) £98% 210-01 |20,0009 x 20%= 400

2) AFEn 210-01 |20,0009 x 30 = 600

3) A (R 440

7hH 71 210-06 |70,000¢ x 47 = 280

) 23 210-06 |40,00091 x4 = 160

4) AR 210-06 40,0009 x 12 = 480

5) ¥93 230-02 15,0009 X 20% = 300
TARIN=ZFGTLE 4,800 115,281 110,481
Sy AATT= 4,800 115,281 A110,481
1. ZALAEUE A A D 4,800 115,281 110,481
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A AR RS54 93 (9] - A Q)
o A=)
Bopnm f} Z; ?};3 ﬂg NERE = = 20179 (A) | 2016¥(B) | Z7(A-B)
7} QIE| Y E A1) 210-02 [400,0009x12¥= 4,800
A5 T3t 106,000 86,000 20,000
S ASEY3A A 20,000 0 20,000
1. A5z L 20,000 0 20,000
ANt k] 20,000
1) 98 210-01 |31,400€9 x25% x43]= 3,140
2) A 210-06 |30,0009 x 27 x 240A] 7k= 14,400
3) JA= 210-15 50091 x 187 x 2403] = 2,160
4) ¥ 93] 230-02 15,0009 x 10% x 23] = 300
ASSHHF AL 86,000 86,000 0
1. $AFELY 86,000 86,000 0
7t SAEEE 66.000
1) 258w 620-03 |400,0009 X767 = 30,400
2) 8 35,600
71 =Y 620-03 |400,0009 x 42 = 16,800
W} A 620-10 |400,0009 x 479 = 18,800
R R s k] 20,000
1) Lo 210-12 |200,0009 X 10%= 2,000
2) 2l 310-01 |7,0009 % 107 x 1348] = 9,380
3) 7H4H) 310-01 |3,0009 %10 x 1363 = 4,080
4) WEH 310-01 |15,4009 %109 x 103]= 1,540
5) Z2ukn) 310-01 |20,0009 x 10 x 158] = 3,000
ERIER Y 15,000 19,960 24,960
LR SRS BN oS kY 7,800 11,260 23,460
1. d53Ly 7,800 11,260 A3,460
7h. els 7 A 1,000
1) &98= 210-01 [40,0009 x16%= 640
2) AATE 360
71 7] 210-06 | 40,0009 % 64 = 240
W) %3 210-06 20,0009l X6 = 120
L, A AR EA| 3,300
1) dga= 110-03 |100,0009 x4 = 400
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(el - ")
A el sz AE 20179 (A) | 2016¥9(B) | S#(A-B)

2) YA 210-01 |30,0009 % 20%= 600
3) A|Adxtw 210-07 1,000,000 x 13]= 1,000
4) By 3an 210-15 |250,000¢ x 23] = 500
5) 2] 310-01 |7,000€ x 100 = 700
6) G-Foin] 310-01 100,000 x 1= 100
o o= a-g A E 5200
1) AR 210-07 |500,000€ x13]= 500
2) ALL-43n] 210-13 |3,000,000¢ x 13]= 3,000

sl S o] gAY SR € 7,200 8,700 21,500

1 ez g mgA 44t 7,200 8,700 41,500
7t ol lel&sk7] v 8] 700
1) £998% 210-01 20,0009l x10%= 200
2) AN 500
7h 7] 210-06 130,00091x10%= 300
W) 29 210-06 20,0009 x10%= 200
uh S R0] FR10) AL 700
1) £98% 210-01 20,0009 x10%= 200
2) At () 500
7} 78 210-06 |160,00049 x 2= 320
W) =3 210-06 90,0009 x 2% = 180
oh 2E7PIAALZR T 3,700
1) $98= 210-01 /20,0009 x10F= 200
2) A=A E 210-07 |600,0009¢ x 2= 1,200
3) LTF ;e 210-12 |650,000¢ x 23]= 1,300
4) 2] 310-01 |7,0009 x50 x 23]= 700
5) 7r-A1H] 310-01 |3,0009 X507 x 28] = 300
s e e R B R e & 2,100
1) $98= 210-01 20,0009 X 10%F x 23] = 400
2) Z3AHn] 210-06 |30,0009 x 15413k x 28] = 900
3) AH] 310-01 |7,0009 X 407 x 23] = 560
4) 7HAn) 310-01 3,0004€1 X401 x 23] = 240

THAR A ST 19,700 21,883 £2,183
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TFNEA LA (] - A9

o =]
?};3 ﬂg AFu el T Az o 2017€(A) | 2016W(B) | E%(A-B)

SRS HHER Y 19,700 21,883 A2,183
1. 53852299 19,700 21,883 22,183

7h A 7,000

1) A (L) 210-06 |70,0009 x 1 X 503] = 3,500

2) WA (LN 310-01 |70,0009 x 18 x 503] = 3,500

k. S W5 3,000

1) $99% 210-01 |50,000€ X 15F x 43| = 3,000

LTRSS 7,900

1) A 210-12 |60,000€ x503]= 3,000

2) 2| 310-01 |7,000€ % 147 x503] = 4,900

ek W FEE T 1,800

1) A 3A=247] 430—01 [600,0009 X 27)= 1,200

2) oY (AFEAREA 2 F) 430-01 300,00049 x 27]= 600
FYPEA = 6,692 3,692 3,000
8 30 Z 2 of 1} 2] 9 6,692 3,692 3,000
1. S3A B 2,092 2,092 0

7k A Ao A A 2,092

1) $ogx 210-01 |23,0009 x4F= 92

2) A1) 210—04 |7,0009 X804 = 560

3) A& 210—-12 |3,000¢1 X807 = 240

4) 2 atw 210-07 |600,0009¢ x 2tj= 1,200
2. A ZH Y=Y 3,000 0 3,000

7}, B =AY K 3,000

1) $98= 210-01 |50,0009 X 20%= 1,000

2) A (b 500

7h 7)1 210-06 |160,0009 x 2% = 320

W) ¥ 210-06 90,0009 x 2% = 180

3) A 210-12 |25,0009 X 20 x 38 = 1,500
3. ABA A 1,600 1,600 0

7 RERABEAE 1,600

1) &98% 210-01 [50,0009 X 10%& % 23]= 1,000

2) ¥93] 230-02 |15,0009 x 207 x 23] = 600
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& el e = TR A= S B (h9] @ H9)
Z o )=

wopvy S0 | 2R | AT Aripel %A% SESE 2017 (A) | 20166 (B) | S7(A-B)
R PNR= R R 135,637 130,652 4,985
AN =X Y 135,637 130,652 4,985
1. (Wee) T2 H E LY 135,637 130,652 4,985

7}, @17 1] 81,496

1) AEEAE 55,274

7hH A& 110-02 [1,977,9109x2%8 x 129 = 47,470

W) Az 110-02 65,1009 x 28 x 159 = 1,953

o)) AR E T 110-02 [12,2109 x 2% X 12041 7k= 2,931

2h) Z21H] 110-02 [80,0009 x2%¥ x129= 1,920

nh) A7 A o 110-02 |250,000¢ X 27 X 23] = 1,000

2) Ab3] =) A} 26,222

7hH 4 110-02 |1,871,0009 x 18 x12¢¥= 22,452

W) dxpg 110-02 |61,6009x 18 x15%= 924

) AR TZS5Y 110-02 |11,5509 x 17 X 1201 7k= 1,386

Zh 2] 110-02 [80,0009 x1%¥ x129= 960

ul) A7) o= 110—-02 |250,000¢ x 17 x 23] = 500

(R R 6,427

1) AEAAL 320—04 2,181,390 x2%= 4,363

2) A}EEX A} 320-04 2,063,500 x1%= 2,064

o AR 8,364

1) ZFHdAFE 320-05 81,496,0009 X 4.5%= 3,668

2) AR 320-05 |81,496,0004 X 3.06%= 2,494

3) = AV| Q%R 3 320—05 [2,494,0009 X6.55%= 164

4) 1819 320-05 |81,496,0009 X1.5%= 1,223

5) AHAl R 320—05 81,496,0009 X 1.0%= 815

g}, A EA kel g o) 220—01 20,0009 X394 x1203] = 7,200

o}, o3 n) 32,150

1) ZEIALYPY] 9,500

7hH HZg ae-o 210—15 900,000¢ X108 = 9,000

W) Ak g 7l 310-01 [100,0009 x53]= 500

2) AAadEed 5,400

7H TEL= 210-02 |250,0009 x129= 3,000

e

AL - 34

AGBEAD - FAFLBEA Y

o,
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(9] - )

AU o S-A= AEY 2017d(A) | 20169¥(B) H(A-B)
) A G-= 1] 210-09 |200,0009 x 129 = 2,400
3) A H@Ap) 210-15 |340,0009l x 53] = 1,700
4) $JLE 210-01 |250,00091x 129 = 3,000
5) ©AA 7= L] 210-01 |200,000¢l x 48] = 800
6) TR EEA = 210-15 |400,0009 x 53] = 2,000
7) Ae] 2 58 A 210-15 |700,000€ X 108] = 7,000
8) Z=uu|A 210-15 |250,0009 X 53] = 1,250
9) AA5=n) 210-15 |300,000¢l x 57 = 1,500
5,750 5,000 750
5 5,750 5,000 750
RZAYEZZ IR 5,750 5,000 750
7h RAZAPY TR 130 5,750
1) $98% 210-01 50,0009 X 20%= 1,000
2) 2] 210-04 |7,00041 x40 x 23] = 560
3) 7+An) 210-04 |3,0009l x 467 x 53] = 690
4) AR (AR 500
7 7)E 210-06 |160,000¢l x 27 = 320
W 23} 210-06 90,0009 x 2% = 180
5) ZZurals| A X 210-12 300,000 X 109 = 3,000
1,910 1,910 0
=B PR 1,910 1,910 0
1. 7S A A =B 7L 1,910 1,910 0
7h =7 A A = e 1,910
1) $983% 210-01 |9,0009 X 6% = 54
2) Hot#e| 4 210-06 40,0009 x 8% x 43]= 1,280
3) 2] 210-04 |7,0009] x 87 x 93] = 504
4) 7-Am) 210-04 |3,00041 X8 x 33| = 72
ASER =S 4,188,030 2,436,270 1,751,760
W32 523 375,520 355,520 20,000
9 375,520 355,520 20,000
H-3} 3 8} 5 34 31 A 9 20,000 5,670 14,330
7} EQuledweg 20,000
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(9] - )

== A5 AU S 2017 (A) | 20161 (B) ZH(A-B)
1) *98= 210—01 40,0009 X 20% x 73] = 5,600
) ZFAIH] 210—06 30,0009 x50 X 3A]7F X 325 = 14,400
Z2S5FAko] &0 171,654 165,984 5,670
7}, W sty 171,654
1) 25w 620—03 [8,174,0009 X 21 3= 171,654
3. x| & 123,866 123,866 0
1 e 123,866
) =8 79,866
7H =2 620-03 |4,338,400¥ X101 = 43,384
h A 620—10 19,120,500¢ X 431= 36,482
) A58t 33,000
7hH 3 620—03 |11,000,000¢ X 11= 11,000
) A 620-10 |11,000,000¢ X 2iL= 22,000
3) AP AAREZA Y 11,000
7V &8t 620-10 |5,500,0009 x 1 &= 5,500
W) 158 620-10 |5,500,0009 X 11= 5,500
L ERmgguae 60,000 60,000 0
b 6x4 620-03 |12,000,0009 x 174 = 12,000
Zx5su 620—03 12,000,0009 X 43= 48,000
2124 3,579,710 2,018,025 1,561,685
el 3,579,710 2,018,025 1,561,685
rolzrgF 3,299,598 1,736,752 1,662,846
] -ﬁ—_]% 172,656
) 29 620-03 |118,800,000¢= 118,800
) AFY 620—10 53,856,000 = 53,856
B 620-03 |1,048,045,0009= 1,048,045
o}, =8k 341,347
) 29 620-03 199,987,000 = 199,987
) A 620—10 |141,360,000¢= 141,360
1A I 1,737,550
) 29 620-03 |316,293,0009 = 316,293
) AHY 620—10 |1,421,257,0009 = 1,421,257
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Abd Wi < A& A= o 20174 (A) 2016 (B)

2. AR FAEA 280,112
7k BHHA L 9,454
1) 71+ 620—03 [9,454,0009= 9,454
AR 2 4,284
1) 7% 620—-10 [4,284,0009= 4,284
o} =5t 73,721
1) 715 620—03 |73,721,0009= 73,721
g ¥HT 34,690
1) 7% 620—03 |15,813,0009= 15,813
2) Fieok 620—03 |18,877,000¢= 18,877
o}, A= 41,871
1) 7% 620-10 [1,327,0009= 1,327
2) Fsok 620-10 [40,544,0009= 40,544
vh, Il 28,395
1) §7)% 620—03 12,173,0009= 2,173
2) Hzok 620—03 126,222,000 = 26,222
Ab A 3L 87,697
1) Fisok 620—10 |87,697,0004= 87,697
RS ANA 180,000

ETATA: - k-1 DA R 180,000 0
1. 3o&1 524 180,000
7h wh A w397 € 70400
1) vpa w2 8- 620-03 |4,000,0009 X 51= 20,000
2) M w3 =] 210~15 |1,000,0009 x 108+= 10,000
3) P uFATAEY 40,400
7H AF9n] 210-01 [510,0009 x203]= 10,200
) 2n) 210—04 17,0009 X100 x 203] = 14,000
o} Zuh) 210—04 20,0009 x90% X 63] = 10,800
2}) ZAEE (AR 4,000
(1) 7]1& 210—06 100,0009 X209 = 2,000
(2) =3 210—06 50,0009 X 20% x 2] 7k= 2,000
vh) AR (AR 1,400
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GO )

AF A= AEU 2017d(A) | 20169 (B) | FH(A-B)
(1) 718 310-01 [100,0009 X794 = 700
(2) =3 310-01 |50,00091 X 71 X 2A]3k= 700
u}. shayhehi e 73,580
1) LSHEE S 5,200
7hH £ 8% 210-01 50,0009 X 44%F= 2,200
) A (D) 3,000
(1) 71& 210-06 |70,0009 X104 x 23] = 1,400
(2) %3 210-06 |40,000¢) X 10%4 X 4] k= 1,600
2) SAFotel A4 62,050
7hH 9 LE 210-01 |37,800€¥ X 10% x103]= 3,780
) skl E ol 2] Y n] 210-01 1,500,0009 x 14¥= 21,000
th =AY 210-01 12,350,000¢ x 13]= 12,350
b s 3% 210-01 5,000,000 x 23] = 10,000
uh) Ak (A Eh 9,000
1) 71& 210-06 |100,000¢ X104 X 63 = 6,000
(2) =7} 210-06 |50,0009 X109 X 6] 7k= 3,000
vh) RIZAEE (LR 5,000
(1) 71¥ 310-01 [70,0009 X109 X 63]= 4,200
(2) =3 310—01 40,0009 X 10% X 2] 7k= 800
AH &9 3 230-02 |15,000€ X107 x 68 = 900
3) H]ET9 6.350
7h #AFE 430-01 |1,150,0009 x50} = 5,750
) =g 430-01 |600,0009 x 1t)= 600
ok A WS EA A E T 36,020
1) ZFAM) 210-06 |30,000¢) x5 X 100 k= 15,000
2) St w A Y 210—13 5,000,0009 X 47§ == 20,000
3) ¥o3 230-02 |15,0009 x 1774 x 48] = 1,020
TSEZ) L 52,800 62,725 £9,925
XAAK 52,800 62,725 19,925
TSEX AR IX¢Y 52,800 62,725 29,925
7b B EA AT A 4 47,800
1) 25w (1w) 620-03 |47,800,0009 x 11= 47,800
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T TEA DA (k] - <)
[e} =]
?};3 ﬂg Apej el B Az 2017 (A) | 2016\ (B) Z(A-B)
b 5B 4 ALY 210
1) X 210-06 |80,0009 x 3% = 240
o W EA T EA Y 4,760
1) Loex 210-01 |5,0009 x47%= 235
2) 9erL o) 210-13 |2,000,0009 x 13]= 2,000
3) Rkl a 210-07 600,000 x 1t= 600
1) A AE 210-07 |225,0009 % 13]= 225
5) 3] 210-12 40,0009 x 25 = 1,000
6) 2] 310—-01 |7,00091 % 257 x 43]= 700
/AT 54,020 481,589 A427,569
BT 3,491 3,455 36
SuuAzE 1,056 1,020 36
1. RASHY LY 1,056 1,020 36
b BRI 008
1) ¢34 210-01 |30,0009 % 6% = 180
2) 8 210-01 |14,0009 x 31} x 44| 7= 168
3) ZdAtE (4N 220
7h 7= 210-06 |70,0009 x 29 = 140
W) x3} 210-06 40,0009 x 2% = 80
. RS HEAA AT 188
1) Logex 210-01 |20,0009 x5%= Bt
2) e 210-01 |14,0009 x 3] X 44| 7k= 168
3) A (A 220
7hH 78 210-06 |70,00091 %28 = 140
W x4 210-06 |40,0009 % 23 = 80
Rt Rl e 2,435 2,435 0
1. aE=Eag 275 275 0
7}, EHEFA A 270
1) £998% 210-01 |25,0009 X 1%= 25
2) ArGFE 210-01 10,0009 x 258]= 250
2. St FAANEE A 5t 2,160 2,160 0
7} St a7 91487 319 9 3] L.760
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debn =g w57 9%
e 7l Apeiy el SREpE -8 A o 20179 (A) | 20169 (B)
A1) 9] 3 T o N E
1) B 210—-06 80,0009 X119 x23]= 1,760
U AT 400
1) o) 310-01 |20,0009 x5 x 43]= 400
#a 29,874 453,159
73 3,184 3,184
L #2479 3,184 3184
7 stars A AR A 1.076
1) $98% 210-01 |30,000¢ X 10%= 300
) A= 210—01 [14,0009 x 3v] X 8A| 7+= 336
3) A () 440
7hH 715 210-06 |70,0009 x4 = 280
) %23 210-06 40,0009 x4 = 160
. 22§70 YA} 158
1) $94= 210-01 |39,5009 x4F= 158
s R DR RN 1,950
1) 34853 310-01 |50,0009 %39 = 1,950
S FAe 26,690 26,690 0
1. S FASRFE ) 26,690 26,690 0
7}, B2 AL ) 620-03 |2,669,00091 x 10t)= 26,690
AFASH T 20,655 24,975 £4,320
A5 3= 4 20,655 24,975 24,320
1. AZASH A 4 1,000 1,000 0
7b A=A & 3] 1,000
1) S99% 210-01 |100,0009 X5F= 500
2) AGx% 310-01 |100,0009! x 5% = 500
2. AFAEA S 1,600 1,400
7h A5 g A S 2 1,600
1) S99 210-01 |100,0009 x 4= 400
2) MewA 310-01 |100,0009 x 127 = 1,200
3. 71ekA| S 3] 18,055 22,675
7). w57 o) 5 5:940
1) g8 5,940
2FEAS - HA/FA/AGEE - AFAGNN LS - AKIA 2 22/39




(5] : 29)

AP S =A== AEU e 20179 (A) | 2016¥9(B) | S#(A-B)
7h 9 LE 210-01 [40,000€¥ X 40F=
) A
(1) 71+ 210-06 40,0009 x 129 x 23]=
2) =3 210-06 20,0009 x 129 x 23] =
th Alddxts 210-07 |200,0009 x 13]=
Zh 2H] 310-01 |7,0009¥ %100 =
U a Sl ol 5]
1) S 3]
7hH A =85 210-07 400,000 x 1t} x 33]=
) =271 310-01 71,0009 x45% =
2) WA YA S 3 210-01 100,0009 X 20%=
o} w57 8
1) 298=% 210-01 60,0009 x37%=
2) et
7h 71 210-06 40,0009 X109 =
) 3 210-06 20,0009 x 109 =
3) At E 210-07 |250,00091 % 13]=
2}, k) 2 o) 3]
1) 98 210-01 50,000¢ X 66%=
2) 393 230-02 15,0009 x 459 x 23]=
15,589,606 21,765,626
8,072,685 A1,462,235
R 8,072,685 21,462,235
T X e 7,940,702 A1,460,593
7F 8-x9 620-02 |800,803,000¢=
U 253y 620—-02 |3,955,953,000¢1=
o} Z&w 620—-02 |1,723,353,000¢) =
- 5 RXC B P 131,983 21,642
7h S E AR T
1) 258w (410) 620—04 |39,797,0009=
U dehabgl A9
D A 620-04 |5,000,00091=
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(9] - )

o A=)
P IO o RENE 2 A= Az 20179(A) | 2016W(B) | ZW(A-B)

2) 2538w (31w) 620—04 |40,544,0009= 40,544

3) Tt (1) 620—04 [15,000,0009= 15,000

4) 115w (1) 620—04 |10,000,0004= 10,000

= e A R A R 20,000

1) 7% 620-04 |20,000,000¢= 20,000
AFshA A = ¥ 7,213,530 7,516,921 A303,391
AANANAAETR A 6,043,752 6,213,688 A169,936
1. QA AR AR Z 6,043,752 6,213,688 A169,936

7} A 7Au A Y 620-08 |6,043,752,00091= 6,043,752
LGn AR ATFA Y 1,169,778 1,303,233 A133,455
1. 9| AREATRZ 1,169,778 1,303,233 A133,455

7}, st 7| B89 H] 620-09 |1,169,778,0009= 1,169,778
st w-Sol AN A A 4,636,465 4,431,627 204,838
8w A ukA] A 907,861 1,259,001 A351,140
B A AZNE 907,861 1,259,001 A351,140
1. = 3AEEAA 51,120 0 51,120

7}, Atz 420-03 |17,040,0009 x 14 = 17,040

U, Ey= 420—03 17,040,0009 x 24 = 34,080
2. FEARF () AR 710,722 0 710,722

7}, st 710,722

1) A AN 420-02 |664,500,0009 X 4.88%= 32,428

2) A]Adn) 420-03 |2,215,0009 X 300m'= 664,500

3) 7+g)n) 420-04 |664,500,0009 X 1.45%= 9,636

4) A)AHE-gn) 420-05 |664,500,000€) X 0.626%= 4,158
3. AFE A A 146,019 70,000 76,019

7}, g ZA R S 70,699

1) Al 420—03 12,266,0009 X 52m' X 60%= 70,699

v DI EA 7RG (1641 H) 75,320

1) A]Adn] 420-03 |75,320,0009 x 14 = 75,320
RS I O D R R 3,728,604 3,172,626 555,978
St AH TS AANA 3,728,604 3,172,626 555,978
1. ZAYFA 1,800,756 1,521,478 279,278
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AU S s A=Y 2017 (A) 2016 (B)
7}, vke: 403,240
1) A AN 420-02 |386,540,0009¥ X 3.6%= 13,916
2) Al2dn) 386,540
7h st (tHEA ) 420-03 [14,920,0009 X 34 = 44,760
W Az 420-03 12,080,000 x114= 132,880
h AUz 420-03 14,920,000 x 3.54 = 52,220
) AUz (H5E44]) 420-03 [12,080,0009 X34 = 36,240
v} o}l Abx(1%) 420-03 [14,920,000¢ x 24 = 29,840
Hh) o}alx (2%) 420-03 12,080,0009 x 2.5 = 30,200
D B3 E(HEAA) 420-03 |12,080,0009 x 22 = 24,160
o}) Bolx 420-03 [12,080,0009 x 34 = 36,240
3) A|AFn] 420-05 | 386,540,0009) X0.72%= 2,784
U ZF3 (olF%) 993,476
1) A AN 420-02 972,650,0009 X 1.506%= 14,649
2) A]Adn] 972,650
7hH AEx 420-03 119,850,000 x 142 = 277,900
W) 14x 420-03 [19,850,0009 x11.54= 228,275
o) tjo}x= 420-03 [19,850,0009 X 7.54 = 148,875
zh Ald = 420-03 19,850,0009 x 24 = 39,700
up) e 420-03 19,850,00091 x 241 = 39,700
v a1l 420-03 |19,850,0009 x 124 = 238,200
3) Al Eon) 420-05 972,650,000€] X 0.635%= 6,177
o A3 (T 26,807
1) AldH] 26,520
b 13Edx 420-03 |2,040,0009 x 12 = 2,040
W) a3 420-03 [2,040,0009 x 124 = 24,480
2) A5 420-05 |26,520,0009 X 1.08%= 287
g}, "= 52,570
1) A]/dH] 52,013
7h Az 420-03 |8,002,000¢] x 34 = 24,006
W s49x 420-03 |8,002,0009 x 24 = 16,004
oh o}xlk= 420-03 18,002,000 x 14 = 8,002

m

A = &R N AL - A WL EE AN
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)

A S == A5 AU S 2017 (A) | 20169(B) ZH(A-B)

b gl 420-03 |8,002,0009 x0.54 = 4,001

2) AR 420-05 |52,013,0009 x1.07%= 557
u}, g)H RS 277,023

1) A 420-02 |264,915,0009 X 3.85%= 10,200

2) A|2dn) 264,915

7hH Az 420-03 8,410,0009 X 10.54 = 88,305

W) desx 420-03 |8,410,00091 x 12 = 8,410

oh A= 420-03 [8,410,0009 x 24 = 16,820

2 = 420-03 |8,410,0009 x 1824 = 151,380

3) Al HFoju) 420-05 [264,915,0009 x0.72%= 1,908
up, =4 47,640

1) AlAdn] 47,130

7 AFEkE (thE-A A 420-03 12,150,000 x 34 = 6,450

) Az 420-03 12,150,000 x 124 = 25,800

oh A"z 420—03 480,000 x 144 = 6,720

2} Ty= 420-03 480,000 X174 = 8,160

2) AR 420-05 |47,130,00091 % 1.08%= 510
2. FFAIENA 23,400 0 23,400
7t el A 23,400

1) A= 420-03 [156,0009 X 150m= 23,400
3.9 - EAIEANA 181,021 32,295 148,726
7Fo - A 181,021

1) Al 179,660

7h F-<kx 420-03 [6,910,0009 x 524 = 34,550

) tjolx 420-03 16,910,000 x 32 = 20,730

o) Aldx 420-03 16,910,0009 x 74 = 48,370

2 gz 420-03 16,910,0009 X524 = 34,550

"h A= 420-03 [6,910,0009 x 64 = 41,460

2) Al H-tn] 420-05 [179,660,0009 X0.757%= 1,361
4, AEJPENA 1,066,086 1,147,964 ~81,878
7F 17 244,797

1) A AN 420-02 |233,847,0009 X 3.962%= 9,266

m

A = EFAFNAAAL — StwA A w537 Al
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A AR R n S A9 (9] 1Y)
o )=
Bopnm f} Z; ?};3 ﬂg NERE = A 20179 (A) | 2016¥(B) | Z7(A-B)
2) AlAdH] 233,847
7hH 1A= 420-03 |81,0009x2,887m'= 233,847
3) A Rn) 420—05 233,847,0009 X0.72%= 1,684
(R 176,964
1) Al 175,671
7H Ee&x 420-03 [447,0009 X 393m'= 175,671
2) A Xn] 420—05 [175,671,00091 X0.736%= 1,293
t}, W3l A g 40,432
1) Al 40,000
7H 1Ex 420-03 8,000,0009 X 27} 2= 16,000
W) i3 420-03 [8,000,0009 X 37 &= 24,000
2) AldH-tn] 420-05 [40,000,0009 X 1.08%= 432
2t A7 (A1) A 497,179
1) AlAdn] 493,620
7H Atz 420-03 |11,080,000¢ x 64 = 66,480
) tiakzx 420-03 |11,080,0009 x 74 = 77,560
o dEx 420-03 ]9,120,0009 %104 = 91,200
th sz 420-03 |11,080,0009 x 54 = 55,400
) T4 x 420-03 |11,080,0009 X 2.5 = 27,700
v = 420-03 ]9,120,0009 x7.5%= 68,400
Ab) a1z A 420-03 11,080,000 x84 = 88,640
o) &al 420-03 19,120,000 x 22 = 18,240
2) AR 420-05 |493,620,0009 X0.721%= 3,559
nl, S o] EXHA 44,854
1) AlAdH] 44,854
7P ofArx (FAl ) 420-03 |164,0009 x161.1m'= 26,420
) oAb (Fan) 420-03 |164,0009 X 68.4m'= 11,218
th tobx (AFED) 420-03 |164,0009 X 44m'= 7,216
Sl s et iee 61,860
1) AlAdn] 61,860
7H AE(EDS) 420-03 [4,0009 x893m'= 3,572
W) Atz (BEaE) 420-03 14,0009 %1,793m'= 7,172

A - BR BN - A L& B
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R

A S == A5 AU S 2017 (A) | 20169(B) ZH(A-B)

o A% (ET%) 420-03 |4,0009 x1,279m'= 5.116

2hH AH = (FALF) 420—03 14,0009 X 278m'= 1,112

up) A= (2% 420-03 |4,0009 X 1,625m'= 6,500

vp) &8 7 (ETE) 420-03 |4,0009 x1,959m'= 7,836

AP FEF0ETE) 420-03 14,0009 X 453m'= 1,812

ob) 1 (EHT) 420-03 [4,0009 % 1,981 m'= 7,924

A 1 ZAZ(EF5AA) 420-03 [4,0009x118m'= 472

2 Bz (FX9%) 420-03 [4,0009 X 350m'= 1,400

7hH AR (EEE) 420-03 |4,0009x1,244m'= 4,976

Ep itz (Fx9%) 420-03 |4,0009 X 605m'= 2,420

) vZ=(EAE) 420—03 [4,0009 x2,887m'= 11,548
5. SIF-FANA 81,272 106,413 A25,141
7}, wjE =2 31,222

D &% 420-03 |233,00091 % 134m= 31,222
A 50,050

D Fax 420-03 |455,0009 X 110m= 50,050
6. A7 AN 126,188 120,941 5,247
7}, 2" A4 (LED) 118,138

1) AlAdH] 117,120

7h tiitx 420—03 2,440,0009 x 72 = 17,080

W) dslx 420-03 |2,440,0009 X 64 = 14,640

o) 5% 420-03 [2,440,0009 X152 = 36,600

) Ty x 420-03 |2,440,0009 X 2.54 = 6,100

uh A= 420-03 |2,440,0009 x7.5%= 18,300

v gl 420-03 2,440,000 x84 = 19,520

AD &g 420-03 [2,440,0009 x 24 = 4,880

2) At 420—05 117,120,000€) X 0.869%= 1,018
U, A7 855 8,050

1) AlAdn] 8,050

7H A= 420-03 |322,0009 X 25kw= 8,050
7. 3ZANA 239,149 243,535 24,386
7t s ) 239,149

m

AN — B ANAANNE — St A w2 A
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A AR RS54 93 (Sl @ H9)
Bopnm f} Zﬁn E{;} ﬂjg NERE = = 20179 (A) | 2016¥(B) | Z7(A-B)
1) A 420-02 |228,410,0009 X 3.981%= 9,094
2) A 228,410
7h AWl 2 (FERF) 420-03 |32,630,0009 x 24 = 65,260
W) 5= FERT) 420-03 32,630,000 x 54 = 163,150
3) AR 420-05 |228,410,0009 X0.72%= 1,645
8. LA FA (A 79,400 0 79,400
7F &S 79,400
1) 9= 620-10 119,850,000¢ x 44 = 79,400
9. Al LANA (AFRD 24,292 0 24,292
7F A2 () A 22,160
1) A= 620—10 |11,080,0009 x24= 22,160
L EHEo| EFA 2,132
1) 135S 620—-10 |164,0009 x13m'= 2,132
10. A7 AN (AHR) 4,880 0 4,880
7} 2 A4 (LED) 4,880
1) 2395 620—-10 |2,440,0009 x 24 = 4,880
11. 3PFANA (A 102,160 0 102,160
7} s A 102,160
1) 1% 620-10 |25,540,0009 X421 = 102,160
B4 - AGTK 83,626 81,996 1,630
BATS 83,626 81,996 1,630
R BT e i1 DR 22,630 22,000 630
HATSAI AL EA A 630 0 630
A e R R R R 630 0 630
7} ZA e 210-06 80,0009 x 6= 480
. & 9] 3 230-02 15,0009 x 10 = 150
HAGFIA 22,000 22,000 0
1. FASTFHATFA Y 22,000 22,000 0
7k A S A E A sk - 17,360
1) &98= 210—-01 |40,0009 X 10 % 73] = 2,800
2) ZdAr () 310-01 40,0009 X 775 x528] = 14,560
U SAqnSZZE 3L 4,640
W - FA - AGu S - FADS - FADSEYIA D - AT FIA 29/39




(9] D)
A S == A5 AU S 20179 (A) | 20169(B) | S (A-B)
1) $oJe= 210-01 |40,0009 X 22% x 38| = 2,640
2) A () 310-01 40,0009 x 27+ % x 253] = 2,000
60,996 59,996 1,000
FAA 60,996 59,996 1,000
1. ZZEABENTE 25,000 23,000 2,000
7h =AY 430-01 |10,00091 2,500 = 25,000
2. A gz 92 16,000 16,000 0
7} 3| AR B 210-02 [423,5009%x129= 5,080
. A 52=H) 210-09 910,000 %129 = 10,920
3. A gxgdx g 8= 3,000 4,000 A1,000
7} g9 = g 9] 430-01 [50,000€9 X 60%= 3,000
4. FFEANBEI ALY 9,654 9,654 0
7t A TS A AL 4,800
1) S99= 210-01 |20,0009 X 20% x 93] = 3,600
2) A (dHh) 310-01 |40,0009 x 3% x103]= 1,200
v A A Zol 7= A B s o) 4,854
1) $98= 210-01 |61,0009 x 14%= 854
2) ZdAr () 310-01 |40,0009 X108 x 103] = 4,000
5. FF3=ABLIu AL 7,342 7,342 0
7}, oFtdA 8- 210—13 [611,8309x12¥= 7,342
A1) 1,934,039 3,812,585 21,878,546
TS 1,267,208 1,070,908 196,300
14,507 7,020 7,487
718 34 11,247 6,120 5,127
1. FedFAgTEFR 11,247 6,120 5,127
7}, 1A WS4 3] 3,300
1) S99= 210-01 |20,0009) X 20%= 400
2) A=A 2 210-01 |4,0009 x500%= 2,000
3) ¥9l3 230-02 |15,0009 X 207 x 33| = 900
. I AR 1,250
1) S99= 210-01 |50,0009 X 13%= 650
2) 7+A1H] 310-01 |3,0004 x 200 = 600
T — L5 A7 8¢ - w7 E e 30/39




A AR R n S A9 (k] : 2
= o =]
Bopnm f} Zﬁn ?};3 ﬂg NERE 2 A AEU 2017d(A) | 2016Q(B) | Z7HA-B)
o}, &g s 1,800
1) 2] 210-04 |7,0009 X 427 x 53] = 1,470
2) ZAkr (AR 330
7} 7= 210-06 |70,0009 x 1% x 38| = 210
W) 27 210-06 40,0009 x 3] 7k= 120
2wzt e 8l 1,275
1) 24 210-04 |7,0009 X277 x53]= 945
2) A () 330
7h 7] 210-06 |70,0009 x 17 x 38]= 210
W) =3 210-06 40,0009 x 3A|3k= 120
v}, 152 AL o) 8 2,052
1) 2] 210-04 |7,0009 %417 x63]= 1722
2) ZdAtr (4N 330
7p 7= 210-06 |70,00091 x 17 x 38]= 210
W x=3 210-06 40,0009 x 3] 7k= 120
ok S QA E kg 1,570
1) A= A2t 210-01 |10,0009 X 65%-x 23] = 1,300
2) 23] 230-02 |15,0009 x 18% = 270
RETASE: R 3,260 900 2,360
1. X EYAIA A7 2,360 0 2,360
R RE RS ERRE 2,360
) Lol 210-01 [49,2009 X 15%= 738
2) ZA 5w 210-06 |80,0009 x 97 x 28] = 1,440
3) AlH] 310-01 |7,0009 X137 x 28] = 182
2. §ALAEFIAL 900 900 0
7h L H ARG F2 900
D 210-01 18,0009 x10%= 180
2) go)3 230-02 |15,0009 X167 x 33]= 720
FINNE 1,850 2,150 A300
AR 1,850 2,150 2300
1. AR A 600 900 2300
7} ZARE S 250-04 |5,0009 x 37 x 403]= 600
W = WHANE - WP AN — AR — AR 31/39




FA7 s AR 21 Z S 9% (F2] ;A9
Z o )=
wopvy S0 | 2R | AT NERE CEpE RENL 20179 (A) | 2016d(B) | Z%(A-B)

2. oA Qg 9 o] 2733t 1,250 1,250 0

7h AH A 1,250

D eog= 210-01 20,0009 % 15%= 300

2) A (e 500

7p 7)1 210-06 |160,0009 x 2= 320

W) x5} 210-06 90,0009 X 2A] 7+= 180

3) 9] 3 230—02 15,0009 X154 x 23] = 450
5P R3S} 51,598 7,996 43,602
ASH A RBA AL 51,598 7,996 43,602
1. A2k #E LY 50,938 7,336 43,602

7F A S 46,750

D Soax 210-01 |45,0009 X 10% x 23] = 900

2) PC<¢] 210—09 [50,0009 X 203]= 1,000

3) A A AZEE 430-01 |1,150,0009 x 1= 1,150

4) WEE7FE 430-01 |1,150,000¢1 x 38t = 43,700

L A4 B4 B 4,188

1) H/WA B4 210-09 |52,350,0009¥ X 8%= 4,188
2. EH oA {F-A &= 660 660 0

7} S o] R El 1 AqH] A~ 210—01 |55,0009 x129= 660
v G du) Al & L Bt 823 778 45
B4t A L B kg 823 778 45
1. v A E L H et 120 120 0

7h A Rrd gk - 120

1) $ogx 210-01 |20,0009 X 6%= 120
2. X5 703 658 45

7} S g E 210-01 |10,6009 %X 5% = 53

DAY 210-04 |7,00091 x50 = 350

o ZEAH] 210-04 3,0009 X 50% x 23] = 300
o2tz 29,940 15,770 14,170
Ak 29,940 15,770 14,170
S ARG FR 300 300 0

7F A=A & 210-01 10,0009 X 30%= 300
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b E g w54 9 % (9] - A Q)

)=
o | A Ayl %A% a4 20179(A) | 20169(B) | SH(A-B)

2. AR AMNAA Y 29,640 14,400 15,240

7h A A ¢ 29,640

1) A= @) 620-10 |29,640,0009= 29,640
A5 #e 34,975 26,855 8,120
FEAANUEZ A7) 34,975 26,445 8,530
1. 2 - Z&AA A 7,540 7,540 0

b A AN E A S w 210-01 550,0009 X108 = 5,500

U 57T R 210-01 |54,000€¥ x103]= 540

o}, 39 g 230-02 15,0009 X 139 x 43]= 780

2}, B &%) 250—04 [60,0009x 19 x12¥= 720
2. 71EbA A & 8,450 0 8,450

7} AR E R Q) 410-01 |25,0009 x338m'= 8,450
3. ZSA| A AFFA 3] 18,985 18,905 80

7. A1 A2 A 3] 8] 210-02 18,985,000 = 18,985
AP H X] A & 1,008,567 873,364 135,203
g ul x| A 2 B 1,008,567 873,364 135,203
1. A PYFEZ=R 300 300 0

7} 39 3 230-02 15,0009 X109 x 23] = 300
2. 2 AR 954,965 823,970 130,995

7F SR A QAN 110-03 |114,0009 X503 = 5,700

L EakapEerd A Q) 210-01 |500,0009 x 23] = 1,000

o E et Akl 1,000

1) S99= 210-01 25,0009 X 10% x 23] = 500

2) Z3AHrd (4R 500

7hH 71& 210-06 [160,0009 x 174 x 23] = 320

W 23 210-06 90,0001 % 17 x 24| 3}= 180

2t E 8 -Gy 137,113

1) x40 620—03 8,497,000 = 8,497

2) 2=sw(154) 620—03 110,509,000 = 110,509

3) o]Lsky (20 210—10 (18,107,000 = 18,107

ul, AW A= (120) 210—07 |614,888,000¢= 614,888

vl QFA A =AFQI A H] 195,264

— ARG — SR A — LA A 2 2] 33/39




EESEREE CERET)
o )=
3;3 ﬂg A Az 20179 (A) | 2016¥9(B) | E%(A-B)
D FA20%) 10,848,0009 x 18 = 10,848
2) 25 (179) 10,848,0009 X 174 = 184,416
3. =R ¢ 53,302 49,094 4,208
7}, @A) %) 2 (73) 53,302,000 = 53,302
SEnw =y g 4o g 6,694 6,253 441
SR w78 3] g 6,694 6,253 441
1. a9 aAg 3,694 3,253 441
7h g Aeds 2,350
1) $33g= 20,0009 x 61%= 1,220
2) Z3AE (4R 500
7hH 7] 160,0009 x 2w = 320
W) 23} 90,0009 x 29 = 180
3) &3 15,0009 x 421 = 630
. St Sl 9w S 1,344
1) 9983 15,0009 X 21% x 23] = 630
2) 21] 7,0009 X423 x 23] = 588
3) 7F21H] 3,0009 x 42w = 126
2. SRRt gAY 3,000 3,000 0
7h. SRR A o] A 3,000
1) $o38F 86,0009 X 10%E= 860
2) A (e 660
7hH 7] 70,0009 X 6 = 420
W) x3 40,0009 X 6% = 240
3) A5 7) KA u) AR 20,0009 x 43 = 80
4) ) 7,0009 X 257 x 53] = 875
5) 7HA1n) 3,0009 X 257 x 78] = 525
Al A 118,254 130,722 A12,468
A AN 73 118,254 130,722 A12,468
1. AAAII =R A ¢ 118,254 130,722 A12,468
7h. A A 105,958
1) HABg g 12,974,0009 = 12,974
2) 2= 92,200,000 = 92,200

WEYH AN — AEAR B - A A e
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A AR RS54 93 GEREE)
=] 0 o9 Al H -
H ol B o [=ham| < l A eS| A= (=4 A= 3 =] 14 Z7) (A —
Bopnm e e 4 e = A o 2017 (A) | 2016 (B) 54 (A-B)
3) A]A B 420-05 |784,0009= 784
L 715 Ab s A A ke 7,296
D 2% 210-13 |608,0009 x 129 = 7,296
o}, Stw A A A W Bl e 7] B 620-04 |5,000,0009 x 1= 5,000
X 666,831 2,741,677 A2,074,846
71 &9 411,356 404,986 6,370
SRR 411,356 404,986 6,370
L 7125520 27,480 27,480 0
7h 7137 R4 7] 27,480
1) 7)1 BZANFA L3210 25002 |400,0009 x 129 = 4,800
2) 71 ¢T3 2n) 230-01 |21,000,000¢1= 21,000
3) A7 FF2n] 230-01 [40,0009 x 429 = 1,680
2. 7] B AN 175,599 171,897 3,702
7h. ARk 7] 7,430
1) P ET= 210-01 |15,0009 x 20% x 129 = 3,600
2) ¢]¥Lolz] 210-01 17,3009 x 100%-= 1,730
3) &y 210-03 |300,0009 x 78 = 2,100
ur A]—E—Q—%‘ﬂ]/ﬂ 18,500
) AFE (EA) 430-01 900,000 x 14t]= 12,600
2) T E] 430-01 |250,0009 x 10t = 2,500
3) ZHE (A4) 430-01 600,000 x 4t)= 2,400
4) WA 430-01 |1,000,000¢ x 1= 1,000
e T YA A 44,690
1) A7) F 210-02 |2,500,00091 x 129 = 30,000
2) Aste 210-02 |1,000,0009 x 1298 = 12,000
3) Astrro 210-02 1250009129 = 1,500
4) FHQ 210-02 50,0009l x129= 600
5) Al EA N AR 2 210-02 |100,0009 x 28] = 200
6) AARZ=RIA T 210-02 (26,0009 x15% = 390
I AR 14,308
1) FelAu g 210-13 |109,0009 x 129 = 1,308
2) Aty 210-06 (50,0009 x 2602 = 13,000
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& el e = TR A= S B (Sl @ H9)
N [e) 1=
wopvy S0 | 2R | AT NERE 2 4% Ao} 2017d(A) | 2016W(B) | Z%(A-B)
nt, A AREE 54,548
1) 334 n] 210-09 1,974,0009 x 23| = 3,948
2) A8 210-13 [1,100,0009 X129 = 13,200
3) A7FAHA 7,200
7H HAF 210-02 300,0009 x 28] = 600
W) mAALE 210-02 |1,300,0004 x 23] = 2,600
o} 3l g A}Er 210—02 |1,000,000¢ x 23] = 2,000
2}) thakale 210-02 |1,000,0009 x 23] = 2,000
4) 2HAI8AAYE 7 210-02 |1,000,0009 x 23] = 2,000
5) HAFE-X] K2 210-09 1,350,0009 x12¢¥= 16,200
6) AFENG-%]| 1 2= 210—09 1,000,0009 x12€= 12,000
v, o 54 2,775
1) ARFA g ok Al ) 210-08 8679 x4t X8AZFx 100 = 2,775
Ab AV B A B 9,900
1) A3 210-09 [105,0009X12%F%x55]= 6,300
2) 7] 210-09 50,0009 X6t x 12¢= 3,600
of., &AL 22,648
1) ¥ 54 (30,000kme] ) 210-10 |10,238,000¢ x 1tj= 10,238
2) 53 (15,000kmol7) 210-10 |12,410,0009 x 1tj= 12,410
2t WAA 2 800
1) 2 =3At 800
7hH BE574 210-01 10,0009 X505= 500
W) 98 210—01 [20,0009 X 15&= 300
3. 7IEpA 4% 48,540 51,540 23,000
7t AR1E R e 48,540
1) +98% 210-01 |14,600€ % 10% x53]= 730
2) A7 ETE 210-01 50,0009 x1&= 50
3) & UAA 19,207
7h A7 e 210-02 |1,100,0009 x12¢= 13,200
W) Azte & 210-02 100,0009 x129= 1,200
th A& 210-02 [150,0009x12¥9= 1,800
2h) AT T 210-02 10,0009 x 8t x 129 = 960
WS - WFUNE - Ao - 2] - wSHLH LY 36/39




AR = &A= A=Y 20173d(A) | 2016 (B)
o) A7 R 210-02 78,5409 x129= 943
) A2MAIE A A ST 2 210-02 88,0009 x12¢¥= 1,056
A} whshae) 2} 3] v 210-02 |48,00091x 13]= 48
4) BETy 210-08 8679 X8AZFX70U X 1th= 487
5) 2] 12,400
7h AR5 210-06 |50,0009x1109= 5,500
W) A5y 210-06 |50,0009 %1029 = 5,100
th 1 74u) &< 210-13 |150,000€9 x12¥= 1,800

6) o] 2,080
7h ) 220-01 |20,0009 x 47 x 203]= 1,600
) Ty 220-01 |40,0009 x 47 x 38]= 480
7) AR A B 3,806
7h e a= 210-01 |50,0009) x 48] = 200
wp) 884 ) 210-09 50,0009 X 123] = 600
th AZ=7) 210-09 |201,800¢ x 3= 606
b Al 7y 210-09 |200,000€ x12¢¥= 2,400
8) A&ued 5,480
7h R 210-01 |300,0009 x 129= 3,600
W FHAE 210—-15 (27,5009 x32%= 880
o ATAE 210-15 |50,0009 x 204 E= 1,000
9) ¥l 4,300
7H FAFE (EA) 430-01 |900,0009 % 3th= 2,700
) 2UE 430-01 |250,000¢ x 3di= 750
oh) TV (43" 430-01 |850,000¢1 % 1th= 850
4, B 7122 AN 120,851 115,183
7t A A L) 76,622
1) kel 13,264
7hH B 210-01 |1,200,0009= 1,200
) Al 210-01 |416,0009] x 297 = 12,064
2) Eu)aln) 210-05 |7,000¢ x 297 x 30%] = 6,090
3) ofH] 50,590
7h ] 220-01 |20,0009 X307 x 38| = 22,690
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CORED)

SERE

AhE

2017 (A)

20163 (B)

=7 (A-B)

) =
) &9
4) A
H e F71]
6>aﬁaﬁ$TL1
B ESAE

2) E<tulj 2]

3) oy]

7h #]

) =y

th =9

4) AAFQ R0

5) F-AM 9T
5. EA AV ZEAFFHH
7t ARhE-3 ]

1) 718

2) M1
= L—UH}\]
A
A A4
nt. o1 H]

1) #d
2) =
6. EA A7 LY 3]

7t 71389

D *d&+

2) =R 8F
) AYETE

N
402 =
N o
(2 e

2

=

P

2os
_{

4

H

P

w

40,000 x 30 x 183]=

70,0009 X307 X 33]=
255,600¢ X 57 =
350,000 x12€¥=
100,000 x12¥=

1,200,000 =
416,000 X139 =
7,000 X134 x313]=

20,0009 x 12 X 733] =
40,0009 X124 X 163]=

70,0009 X129 X 53] =
100,000 x12€=
350,000 x12€¥=

800,000 =
359,000 x 47 =
7,000 x 47 x303]=
100,000 x12€¥=
100,000 x12¢€=

20,0009 X 47 X 203] =

40,0009 x 47 x53]=

20,0009 X 33F x 23] =
100,000 X 10%=

10,0009 X 10Fx12¢¥=

20,0009 X 36%F=

7,400

31,486

476

A476

1=
4) THEH
HegH - AEALHEY
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il s B el s B v Sl B (h9] @ H9)
)] [e) )=}
wopvy S0 | 2R | AT Al %A% AU 2017 (A) | 20166 (B) | S7(A-B)
. 3w L AA 14,305
1) A71e+F 210-02 900,0009 x12¥= 10,800
2) Asla = 210-02 150,0009x12¥= 1,800
3) Asrre = 210-02 50,0009 x12¢= 600
4) A71A"ASFTR 210-02 [150,0009 %238 = 300
5 AARZRI T 210-02 |105,0009 x18]= 105
6) AJdujArBeln s 210-02 |100,00049 x 13]= 100
7) =X 3] ) 210-02 200,000¢ x 37] k= 600
ot Al A e 9,540
1) ¥En) 210-03 |200,0009 x 1= 200
2) 3174 An] 210-09 100,0009 x 48] = 400
3) AESA 210-09 40,0009 x 129 = 480
4) A5716-A 210-09 40,0009 x 129 = 480
5) FolAn| g 210-13 |165,0009x12¢¥= 1,980
6) FargA 210-13 |500,0009 x 129 = 6,000
ot BT 210-08 867X 1T X8AIZFX90Y = 625
o}, B]E 1) 2,300
1) AFE 430-01 1,150,0009 X 1tf= 1,150
2) %Hc}ﬂ 430-01 |500,0009 % 1t= 500
3) &} 430-01 |650,0009 x 1t} = 650
A7 AAAL 255,475 2,336,691 22,081,216
AEFA LA HY 255,475 2,336,691 A2,081,216
1. IS YAAA 255,475 2,336,691 22,081,216
7} BARA e 210-09 |300,0009 x 994t = 29,700
v 13T AT 225,775
1) AZuA 420-03 [11,080,0009 x 3.54= 38,780
2) 7‘<47<M4i] 420-03 13,570,000 x3.02 = 10,710
3) w3 AA WA 420-03 |1,110,0009 x3.54 = 4,065
4) A=A 420-03 12,440,000 x5.5% = 13,420
5) E-AFs A 420-03 |19,850,0009 x8.02= 158,800
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